Describing Turns

Describing Turns

4a. Two lrogs slarl in the same position.
They want 1¢ turn the same amount in the

same directicn.
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Whal mistake have they mode? Explaoin.
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4b. Two frogs start in the same posifion.
They want to turn the same amount in the

same direction.
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What mistake have they made? Explain.
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5a. A triangle has been turned.
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Josh says,

// The shape

A / has made a
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Is Josh comreci? Explain why.
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5b. A friangle has been turned.
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Asha says,
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The shape
has made a
three-guarter
turn anti-

clockwise. |
-

Is Asha comect? Explain why.
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6a. How many dflerent ways could
Shape A have lurned o gel fo lhe

éb. How many different ways could
Shape A have lurned fo gel lo the

posﬂlon of Shcpe B? posmon of Shnpe B7
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Answers

Expected
4q. The first rog has made a three quarter

furn clockwise and the second has made
a half turn clockwise.

5a. Josh Is not correct because the shape
has made a half turn antfi-clockwise.

da. 2 ways: a three quarter tum clockwise
or a quarter turn anfi-clockwise.

Expected
4b. The first frog has made a whole tum

clockwise and the second has made a
quarter fum clockwise.

5b. Asha Is not corect because the shape
has made a three quarter furn clockwise.
éb. 2 ways: a quarter furn clockwise or a
three quarter lurn anti-clockwise.



